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Review-Chapter 15
1. Analyze quadrilateral ABCD.
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a. [image: ]Determine the length of each side of quadrilateral ABCD.






b. [image: ]Determine the slope of each line segment of quadrilateral ABCD.





c. Determine if quadrilateral ABCD can best be described as a trapezoid, a rhombus, a rectangle, or a square. Explain your reasoning.
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2.  Use line segment FG to answer the following questions.
[image: ]
a. Determine the location of point H such that triangle FGH is an equilateral triangle.
There are two possible locations for point H. Circle F and circle G, both with radius FG, intersect at two locations. Either point of intersection is a possible location for point H.



b. Suppose triangle FGH is a right triangle with right angle G. Determine the location of point H.
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3. Analyze triangle LMN. 
[image: ]
a. Determine if triangle LMN is scalene, isosceles, or equilateral. Explain your reasoning.







b. Determine if triangle LMN is scalene, isosceles, or equilateral. Explain your reasoning.







4. [image: ]Circle P has its center at the origin, and contains point M at (-6, 0).









a. Draw circle P.
b. [image: ]Determine the length of segment MP. What is this line segment called in reference to circle P?

c. [image: ]Plot point B at (-3, 5) on the coordinate plane. Is point B on circle P? Explain your reasoning.






5. Circle A has its center at (7, -2) and contains point T (11, 1).
a. [image: ]Determine if point B (2, -2) lies on circle A. 





b. [image: ]Suppose circle A is reflected over the y-axis. Determine the diameter of circle A’.


c. Determine the center of circle C’.
The center of C’ is (-7, -2).
d. Identify the coordinates of the point that lies directly above the center of circle C’.
The point that lies above the center of circle C’ is (-7, 3).
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Quadrilateral ABCD is a square. | know this is correct because all 4 sides of ABCD are
congruent. Also, the line segments that meet at a vertex are negative reciprocals, which means
they are perpendicular. Therefore, quadrilateral ABCD has 4 right angles.
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There are an infinite number of locations for point H. Point H could be located anywhere on line
x = 2 except where y
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MP is 6 units. It is the radius of circle P.
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‘The radius of circle P is 6 units. Therefore, | must determine if the length of segment PB
is 6 units.
at+bi=c?

s58=c
Point B is not on circle P because 5.8 # 6.
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Calculate the length of radius AT: Calculate the length of segment AB:

AT = i1 F AB =@ =75+ (2= (-2F
=V16+9 V25+0
AT=5 AB=5

Yes. Point B lies on circle A.
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‘The diameter of circle A’ is 10 units. The diameter of circle A" is the same as the diameter
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